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-1 1 W R — T H 34 6
-1 9 W R — T H 34 5
-1 3 W R — T 34 4
-1 4| srmEE—-TH 34 3
-1 5 W R — T B 34 9
-1 6 W R — T B 34 9
-1 7 W R — T B 34 1
1-2 1 W R — T B 34 8
1-2 9 R T H 34 7
2-1 1 W R — T B 33 6
2-1 9 W R — T 33 7
92-1 3 W R — T B 33 8
2-1 4| srmEE—-TH 33 9
92-1 5 W R — T B 33 10
0-2 | 1-1 | wrwmei—TH 33 9
o-2 | 1-2 | wrwmei—TH 33 3
W R — T 33 19
- , W R — T 33 18
W R — T B 33 17
W R — T B 33 1
9-2 | 3-1 | wermman 10 33 4
9-2 | 32 | w1 33
3 1 W R — T B 35
3 9 W R — T B 35 10
3 3 W R — T B 35 8
3 4 | srmEE—-TH 35 11
3 5-1 | wsrEan—T A 35 7
3 5-2 || wrmET—T A 35
3 6-1 | #hrmEa—T H 35 12
3 6-2 | wtrmERAT—T H 35 13
3 7-1 | s TH 35 14
3 7-2 | wrmmn—TH 35 5
3 8 W R — T 35
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3 o-1 | w1 H 35 3
3 9-2 | wtrmEa—T H 35 9
3 10 | w1 H 35 15
3| 111 | wemmeTH 35 16
3 | 112 | wemmeTH 35

4 1-1 || #orwman—T A 36

4 1-2 || a1 A 36

4 9-1 | #trmma—TH 36 10
4 9-2 | wtrmma—TH 36 11
4 3 W R — T B 36 12
4 4-1 || wrmEE—TH 36 7
4 42 || wrmEe—TH 36

4 5-1 | wsrEan—T A 36 5
4 5-2 || wrmET—T A 36 13
4 7 W R — T B 36 14
4 8 W R — T H 36 4
4 O-1 | #tormEa—TH 36 15
4 9-2 | wrmEA—TH 36 16
4 10 | w1 H 36 3
4 | 11-1 | wrwme—TH 36 17
4 | 11-2 | wrwmei—TH 36 9
4 12 || w1 H 36

5 1 W R — T B 38

5 9-1 | #trmma—TH 38

5 9-2 | wtrmma—TH 38 10
5 3 W R — T B 38 11
5 4 | srmEE—-TH 38 7
5 5 W R — T B 38 6
5 6 W R — T B 38 5
5 7 W R — T H 38 4
5 8 W R — T H 38 3
5 9 W R — T 38 9
5 10 | w1 H 38 1
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10 1 W R — T H 7 1
10 9 W R — T H 7 9
10 | 3-1 | wvrmswr—TH 7 3
10 | 32 | wmmwr—TH 7 4
11 1 W R — T B 3 9
12 | 1-1 | mewme—TH 4 13
12 | 1-2 | mewmme—TH 4 12
12 | 1-3 | mewme—Ta 4 10
12 | 1-4 | mewme—TH 4 11
12 9 W R — T B 4 9
12 3 W R — T 4 8
12 | 41 | mewmme—TH 4 7
12 | 42 | mewmme—TH 4 6
12 | 5-1 | wvrmmwr—TH 4 5
12 | 52 | wrmmws—TH 4 14
12 | 53 | wvrwmsai—TA 4 15
12 | 5-4 | wrmEw—-TH 4 4
12 | 6-1 | wrmmi—TH 4 16
12 | 6-2 | wrmms—TH 4 17
12 | 6-3 | wvrmsai—TA 4 3
12 7 W R — T B 4

12 8 W R — T B 4

13 1 W R — T B 9 11
13 | 2-1 | wvrmmwn—TH 9 10
13 | 22 | wermmwr—TH 9 9
13 | 23 | memmm—TH 9 8
13 | 3-1 | wvrmmwr—TH 9 7
13 | 32 | wemmwr—TH 9 6
13 | 4-1 | wvrmswn—TH 9 12
13 | 42 | wemmwr—TH 9 5
13 5 W R — T H 9 4
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13 | 6-1 | wrmmn—TH 9 19
13 | 6-2 | wrmmw—TH 9 20
13 | 6-3 | memmm—TH 9 3
13 | 6-4 | wrmE—TH 9 18
13 | 6-5 | memme—TH 9 24
13 | 7-1 | wemmwr—TH 9 21
13 | 72 | wemmws—TH 9 2
13 | 81 | #vrmmwi—TH 9 22
13 | 82 | wwrmmws—TH 9 23
13 | 83 | memme—TH 9 1
13 | 84 | wvrmEw—TH 9 17
14 1 W R — T B 1 7
14 9 W R — T B 1 6
14 3 W R — T B 1 5
14 | 4-1 | mewmme—TH 1 4
14 | 42 | mewmme—TH 1 11
14 | 5-1 | wrmsr—TH 1 16
14 | 52 | wrmEws—TH 1 17
14 | 5-3 | #vrmsei—TA 1 18
14 | 5-4 | wrmEs—-TH 1 19
14 | 55 | wrmsei—TA 1 2
14 | 56 | wvrmsei—TA 1 3
14 | 57 | wrmsei—TA 1 15
14 | 7-1 | wvrmmwr—TH 1 12
14 | 72 | wemmws—TH 1 13
14 | 7-3 | wermsei—TA 1 14
14 | 7-4 | wemmws—-TH 1 1
15 1 W R — T B 9 1
15 | 2-1 | wvrmsen—TH 9 9
15 | 2-2 | wvrmmwr—TH 9 3
15 | 3-1 | #rmsn—TH 9 12
15 | 3-2 | wvmswr—TH 9 11
15 | 4-1 | #vrmswn—TH 9 4
15 | 42 | wvrmsw—TH 9 10
15 | 5-1 | #rmss—TH 9 5
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15 | 52 | wrmmwr—TH 9 6
15 6 | wrmE—TH 9 7
15 7 W R — T 9 8
15 8 W R — T B 9 9
16 | 1-1 | #vrmswr—TH 10 8
16 | 1-2 | wrmmwn—TH 10 9
16 | 1-3 | w7 H 10 10
16 9 W R — T B 10 7
16 3 R T H 10 11
16 4| srmERE—TH 10 6
16 5 W R — T 10 5
16 6 | wrmE—-TH 10 4
16 7 W R — T B 10 3
16 | 81 | #rmm—TH 10 9
16 | 82 | wwrmEs—TH 10 1
17 | 1-1 | wmmer—TH 11 9
17 | 12 | wemmerTH 11 10
17 | 1-3 | memme—TH 11 11
17 | 1-4 | wemmer—TH 11 21
17 | 2-1 | wermmewn—TH 11 8
17 | 22 | wemmwr—TH 11 12
17 3 W R — T B 11 7
17 4| s T H 11

17 | 51 | wvrmmei—TH 11 5
17 | 52 | wrmmws—TH 11 13
17 | 6-1 | wrmmwi—TH 11 20
17 | 62 | wrmms—TH 11 4
17 | 6-3 | memmm—TH 11 19
17 7 W R — T B 11 14
17 | 81 | wvrmmwi—TH 11

17 | 82 | wrmmwmi—TH 11

17 9 W R — T 11
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18 1 W R — T H 12 8
18 9 W R — T H 12 7
18 | 3-1 | wvrmmwn—TH 12 9
18 | 3-2 | wrmmwn—TH 12 6
18 | 4-1 | wvrmmwn—TH 12 5
18 | 4-2 | wvrmmws—TH 12 4
18 | 5-1 | #rmmi—TH 12 10
18 | 5-2 | wvrmmwr—TH 12 11
18 6 | MR T 12 3
18 7 W R — T B 12 12
18 8 W R — T 12 2
18 9 W R — T B 12 13
18 10 || wrmma— 1 12 1
19 1 W R — T B 13 8
19 9 W R — T B 13 7
19 | 3-1 | wrmmwr—TH 13 6
19 | 32 | wemms—TH 13 9
19 | 3-3 | wmmwsn—TH 13 10
19 | 3-4 | wemmw—-TH 13 5
19 4| srmERE—-TH 13 4
19 | 5-1 | #vrmswi—TH 13 3
19 | 52 | wrmmw—TH 13 9
19 6 | wrmE—TH 13 1
20 1 W R — T B 14 3
20 9 W R — T B 14 4
20 3 W R — T B 14 2
20 | 4-1 || w1 H 14 5
20 | 4-2 | w1 H 14 6
20 | 4-3 | wrwmei—TH 14 1
21 1 W R — T H 15 12
21 9 W R — T H 15 11
o1 | 3-1 | wrmman—1H 15 13
o1 | 3-2 | wrmman—1H 15 10
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o1 | 4-1 | wrwmei—TH 15

o1 | 42 | wrwmwi—TH 15

o1 | 5-1 | #rmman—1H 15

o1 | 5-2 | wrmman—1H 15 97
21 6 | MR T 15

o1 | 7-1 | wrmman 10 15 5
o1 | 7-2 | wrmman 1o 15 14
o1 | s8-1 | wrwman 10 15 15
o1 | s—2 | wrmman—1H 15 4
21 9 W R — T B 15 3
21 10 || w1 A 15 9
21 11 || wermmwan—T A 15 1
22 1 W R — T B 16 1
22 9 W R — T B 16 9
99 3 W R — T B 16 3
20 | 41 | wrwmei—TH 16 4
20 | a2 | wrwmei—TH 16 5
93 | 1-1 | w1 H 18 9
93 | 1-2 | wrmman—TH 18 1
93 | 1-3 | wermman—1H 18 3
93 | 1-4 || w1 H 18 11
93 | 2-1 | wrmman 1 18 4
93 | 2-2 | wrmman T 18 5
93 | 3-1 | wrmman—1H 18 6
93 | 3-2 | wrmman T 18 16
93 | 4-1 | wrmman—TH 18 7
93 | 4-2 | w1 H 18 10
93 | 5-1 | a1 H 18 8
93 | 5-2 | w1 H 18 9
o4 | 1-1 | wrwmei—TH 19 3
o4 | 1-2 | wrwmei—TH 19 9
o4 | 1-3 | wrwmei—TH 19 1
24 9 W R — T 19 4
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24 | 3-1 | wrmman—TH 19 15
24 | 3-2 | wmman—TH 19
24 4| s T H 19
94 | 5-1 | a1 H 19 7
24 | 5-2 | w1 H 19 10
24 | 6-1 | a1 H 19
24 | 6-2 | w1 H 19
95 | 1-1 || a1 H 20
95 | 1-2 | w1 H 20
95 | 1-3 || a1 H 20 14
95 | 1-4 || w1 H 20 3
95 9 W R — T B 20
95 3 W R — T B 20 5
95 4| srmEE—TH 20 13
95 5 W R — T B 20 7
95 | 6-1 | a1 H 20
95 | 6-2 | w1 H 20 12
95 | 7-1 | w1 H 20 8
95 | 7-2 | w1 H 20 9
95 | 7-3 | w1 H 20 10
95 | 7-4 | w1 H 20 11
2% | 1-1 || a1 H 21 2
2% | 1-2 | w1 H 21 22
2% | 1-3 | w1 H 21 93
2% | 1-4 || w1 H 21 24
2% | 1-5 | w1 H 21 25
26 9 W R — T B 21 1
26 3 W R — T B 21 9
26 4| s T H 21 3
2 5 W R — T H 21 4
2 6 | MR T H 21 5
26 7 W R — T 21 6
26 8 W R — T 21 7
2 9 W R — T B 21 8
97 1 W R — T B 29 1
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97 9 W R — T H 29 2
97 3 W R — T H 29 3
97 4| s T H 29 4
97 5 W R — T B 29 5
97 | 6-1 | wrmman—TH 29 6
97 | 6-2 | wrmman—TH 29 7
97 | 7-1 | wermman 1 29 8
91 | 72 | w1 29 9
01 | 73 | wrwmei—TH 29 10
97 8 W R — T B 29 11
97 9 W R — T 29 12
28 1 W R — T B 23 9
28 9 W R — T B 23 3
98 | 3-1 | a1 H 23 4
28 4| srmERE—-TH 23 5
28 5 W R — T H 23 6
98 | 6-1 | a1 H 23 7
28 7 W R — T 23 8
28 8 W R — T B 23 9
98 | 9-1 | wrwman T H 23 10
28 10 || w1 A 23 11
28 11 || w1 A 23 12
28 12 || w1 A 23 13
28 13 || wermmman—T A 23 14
28 14 || w1 A 23 15
28 15 || o1 A 23 16
28 16 || w1 H 23 17
28 17 | w1 A 23 1
29 | 1-1 | s 1o 24 2
29 | 2-1 | wrwman 1 24 3
29 3 W R — T H 24 4
29 4| s T H 24 5
29 | 5-1 | a1 H 24 6
29 6 | MR T 24 7
29 7 W R — T B 24 8
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29 8 W R — T H 24 9
29 | 9-1 | wrmman 1 24 10
29 10 || wrmma— 1 24 11
29 11 || wtermma— 1A 24 12
29 12 | wrmm— T 24 13
29 13 | wrmma— T 24 14
29 14 || wrmma—T A 24 15
29 15 || wtrmman— T 24 16
29 16 || wtrmma— T 24 17
29 17 | wtrmma— 1 24 1
30 1 W R — T 25 9
30 9 W R — T B 25 3
30 | 3-1 | w1 H 25 4
30 4| srmEE—TH 25 5
30 | 5-1 | a1 H 25 6
30 6 | wrmE—TH 25 7
30 7 W R — T 25 8
30 8 W R — T 25 9
30 | 9-1 | a1 H 25 10
30 10 || w1 A 25 11
30 11 || wermmwan—T A 25 12
30 12 || w1 A 25 13
30 13 || wermman—T A 25 14
30 14 || s T A 25 15
30 15 || o1 A 25 16
30 16 || w1 H 25 17
30 17 | w1 A 25 1
31 1 W R — T B 2% 1
31 | 2-1 | a1 H 2% 9
31 | 2-2 | s 1A 2% 12
31 3 W R — T H 2% 3
31 4| srmEE—-TH 2% 4
31 5 W R — T 26 5
31 | 6-1 | #bormman—TH 2% 6
31 | 6-2 | a1 H 26 7
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31 | 6-3 | shmman—TH 2% 8
39 1 W R — T H 97 13
39 9 W R — T 97 12
39 3 W R — T B 97 11
39 4| srmEE—TH 97 10
39 5 W R — T B 27 9
39 6 | wrmE—TH 27 8
39 7 W R — T B 27 7
32 | 8-1 | #rmman—1H 27 6
32 | 82 | w1 H 27 5
32 | 8-3 | s T H 27 14
39 9 W R — T B 97 4
39 10 || wrmma— 1 97
39 11 || wtrmma— 1 97
32 | 12-1 | #ermman 1A 97
32 | 12-2 | a1 H 97 15
34 1 W R — T 39
34 | 2-1 | a1 H 39
34 3 W R — T B 39
34 | 4-1 | a1 H 39
34 | 4-2 | w1 H 39 18
34 5 W R — T B 39 5
34 | 6-1 | HbomsRaG—TH 39 10
34 | 6-2 | a1 H 39 11
34 | 6-3 | s TH 39 4
34 7 W R — T B 39
34 8 W R — T B 39
34 9 W R — T B 39
34 10 || w1 A 39 12
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35 | 1-1 | #bsas—TH 31 1
35 | 1-2 | a1 H 31 9
35 | 2-1 | #hossas—TH 31 3
35 | 2-2-1 || #hormsRan— T H 31 7
35 | 2-2-2 || ormma— T H 31 6
35 | 3-1 | a1 H 31 4
35 | 3-2 | a1 H 31 5
36 | 1-1 | s T H 30 3
36 | 1-2 | w1 H 30 9
36 9 W R — T B 30 1
36 3 W R — T 30 4
36 4| srmEE—TH 30 5
36 | 5-1 | bERaG—TH 30 6
36 | 5-2 | mEERaG—TH 30 9
36 | 6-1 | HoEsRiG—TH 30 7
36 | 6-2 | bomEERaG—TH 30 8
37 | 1-1 | a1 H 29 3
37 | 1-2 | a1 H 29 9
37 | 2-1 | a1 H 29 1
37 | 2-2 | a1 H 29 11
37 3 W R — T B 29 4
37 4| srmERE—-TH 29 6
37 5 W R — T B 29 7
37 6 | wmE—-TH 29 9
37 7 W R — T B 29 8
37 8 W R — T B 29 5
37 9 W R — T B 29 10
38-1 | 1-1-1 | #horman—1 H 34 9
38-1 | 1-1-2 | #hormai =1 H 34 1
38-1 | 1-2 | bR TH 34 4
38-1 | 1-3 | #hriRei T H 34 5
38-1 | 1-4 | bR TH 34 3
38-2 | 1-1 | #horman =T H 34 6
38-2 | 1-2 | a1 H 34 7
39 1 ol ERA T H 33 1
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39 | 2-1 | a1 H 33 9
39 | 2-2 | a1 H 33 8
39 | 3-1 | a1 H 33 3
39 | 3-2 | w1 H 33 7
39 4| wersERE T H 33 4
39 5 ol ERA T H 33 5
39 6 | s T H 33 6
40 1 o ERA T H 39 1
40 9 o ERA T H 39 9
40 | 3-1 | w1 39 3
40 | 3-2 | w1 39 8
40 4| wrsERE T H 39 4
40 5 ol ERA T H 39 7
40 | 6-1 | s TH 39 5
40 | 6-2 | wmman—TH 39 11
40 | 7-1 | w1 39 13
40 | 7-2 | w1 39 12
40 | 73 | wrwmeioTH 39 6
41 1 ol ERA T H 31 1
41 | o-1 | wrwmei—TH 31 9
41 | 2-2-1 | wrwmei—TH 31 15
41 | 2-2-2 | wrwmei—TH 31 11
41 | 2-3 | wrwmwiTH 31 3
41 3 o ERA T H 31 4
41 | 41 | wrwmeioTH 31 5
41 | 42 | worwmeioTH 31 10
41 | 5-1 || wrmman—TH 31

41 | 52 | w1 31

41 | 6-1 || #rmman—TH 31

41 | 6-2 | wrmmanoTH 31

42 1 ol ERA T H 35 12
42 9 ol ERA T H 35 11
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42 | 341 | w1 35 9
42 | 32 | wemmenoTH 35 10
42 4| wersERE T H 35

42 | 5-1 | wrwmanoTH 35

42 | 52 | wemmanoTH 35 15
42 6 | s T H 35

42 7 ol ERA T H 35 5
42 | 8-1 | werwmanoTH 35

42 | 82 | w1 35 16
42 9 o ERA T H 35

42 10 || w1 A 35

42 11 || wrmman—1 35

42 12 | wrmma =T 35 13
42 13 || w1 A 35 14
44 1 o ERA T H 5 4
44 | o-1 | wrwmeioTH 5 3
44 | 2-2 | wrwmwi—TH 5 5
44 | 2-3 | wrwmeiTH 5 6
44 | 2-4 | wrwmeioTH 5 9
44 3 ol ERA T H 5 1
45 1 ol ERA T H 6 8
45 9 ol ERA T H 6 7
45 3 ol ERA T H 6 6
45 4| wersERE T H 6 5
45 5 ol ERA T H 6 4
45 6 | s TH 6 3
45 7 ol ERA T H 6 9
45 | 8-1 | wrwman—TH 6 1
45 | 8—2 || wrmmai—TH 6 14
46 1 ol ERA T H 4 7
46 9 ol ERA T H 4 6
46 | 3-1 | w1 H 4 12
46 | 3-2 | wewmanoTH 4 5
46 4| wersERE T H 4 4
46 | 5-1 || w1 H 4 13
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46 | 5-2 | w1 H 4 3
46 6 | s TH 4 9
46 7 ol ERA T H 4 1
47 | 141 | w1 3 8
47 | 1=2 | w1 3 9
47 | 13 | wrwmwioTH 3 10
47 | 2.1 | w1 3 11
47 | 2-2 | w1 3 12
47 | 2-3 | wrwmwioTH 3 13
47 | 2-4 | w1 3 7
47 | 2-5 | wrwmwi—TH 3 6
47 | 2-6 | wrwmwiTH 3 5
47 | 4-1 | w1 3 4
47 | 42 | w1 3 14
47 | 43 | wrwmeioTH 3 15
47 5 ol ERA T H 3 3
47 | 6-1 || wrmman—TH 3 16
47 | 6-2 | wmmanoTH 3 17
47 | 63 | wrwmeiTH 3 1
47 | 6-4 | wmman—TH 3 9
48 | 1-1 | wrmmanTH 9 5
48 | 1-2 | wwmanoTH 2 12
48 | 1-3 | wrwmeiTH 2 11
48 9 o ERA T H 2 4
48 | 3-1 | werwman—TH 9 3
48 | 3-2 | wrwmanoTH 9 13
48 | 3-3 | wrwmmiTH 2 14
48 4| wrsERE T H 2 9
48 5 ol BRA T H 2 1
49 1 ol ERA T H 7 9
49 9 ol ERA T H 7 1
49 | 3-1 | wrwmanoTH 7 12
49 | 3-2 | w1 7 3
49 | 4-1 | w1 7 4
49 | 4-2 | w1 7 5
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49 | 5-1 | wrmmanoTH 7 6
49 | 5-2 | wemmanoTH 7 11
49 | 6-1 | #rmman—TH 7 7
49 | 6-2 | wmmanoTH 7 8
49 7 ol ERA T H 7 9
49 8 ol ERA T H 7 10
50 1 ol ERA T H 8 1
50 9 o ERA T H 8 9
50 3 o ERA T H 8 3
50 4| s T H 8 4
51 1 o ERA T H 9 6
51 9 ol ERA T H 9 5
51 3 ol ERA T H 9 4
51 4| wersERE T H 9 3
51 | 5-1 | #bormsan—TH 9 9
51 | 5-2 | #hrmman—TH 9 1
52 | 1-1 || #bormsan—TH 12 4
52 | 1-2 | a1 H 12 5
52 | 1-3 | #mei T H 12 6
52 | 2-1 | #ormsan—TH 12 7
52 | 2-2 | a1 H 12 8
52 | 2-3 | wrwmeiTH 12 3
52 | 3-1 | #ermman—TH 12 9
52 | 3-2 | a1 H 12 16
52 | 3-3 | #meiTH 12 15
52 | 3-4 | w1 H 12 14
52 | 3-5 | e TH 12 20
52 | 3-6 | e TH 12 19
52 | 3-7 | wrwmeiTH 12 18
52 | 3-8 | e TH 12 17
52 4| wersERE T H 12 9
52 5 ol ERA T H 12 1
53 | 1-1 | #borsan—TH 13 9
53 | 1-2 || a1 H 13 8
53 | 1-3 | #sei T H 13 7
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53 | 1-4 | a1 H 13 10
53 | 1-5 | mrsRei T H 13

53 9 ol ERA T H 13 5
53 | 3-1 | #hesan—TH 13

53 | 3-2 | a1 H 13 16
53 | 3-3 | #meiTH 13 17
53 | 4-1 | bsan T H 13 3
53 | 4-2 | a1 H 13 9
53 | 5-1 | brsRai—TH 13 1
53 | 5-2 | a1 H 13 12
53 | 5-3 | e TH 13 11
54 1 ol ERA T H 14 8
54 | 2-1 | #brmsan—TH 14 7
54 | 2-2 | a1 H 14 6
54 3 o ERA T H 14 5
54 4| wersERE T H 14 4
54 5 ol ERA T H 14 3
54 | 6-1 | HbrsRan—TH 14 9
54 | 6-2 | bR TH 14 1
55 1 ol ERA T H 11 1
55 | 2-1 | bosRan—TH 11 9
55 | 2-3 | wsei T H 11 11
55 | 2-2 | a1 H 11 10
55 | 3-1 | bsRan—TH 11 3
55 | 3-2 | a1 H 11 12
55 4| wrsERE T H 11 4
56 | 1-1 | bsan T H 16 5
56 | 1-2 || s TH 16 11
56 9 ol BRA T H 16 4
56 3 ol ERA T H 16 3
56 4| wersERE T H 16 9
56 | 5-1 | bR TH 16 1
56 | 5-2 | bR TH 16 6
57 1 ol ERA T H 15 7
57 | 2-1 | a1 H 15 6
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57 | 2-2 | a1 15 5
57 | 3-1 | a1 H 15 8
57 | 3-2 | a1 H 15 4
57 4| wersERE T H 15 3
57 | 5-1 | #hrmsan—TH 15 9
57 | 5-2 | a1 H 15 1
58 | 1-1 | bosan T H 22 1
58 | 1-2 || bsRan T H 29 19
58 9 o ERA T H 22 9
58 3 o ERA T H 29 3
58 4| s T H 22 4
58 5 ol ERA T H 29 5
58 6 | s TH 29 6
58 7 ol BRA T H 29 7
58 8 o ERA T H 29 8
58 9 ol ERA T H 29 9
58 | 10-1 | borsan =T H 29 10
58 | 10-2 | orsRan =T H 22 11
58 | 10-3 | #hrsRe T H 22 12
59 1 ol ERA T H 21 9
59 9 ol ERA T H 21 3
59 3 ol ERA T H 21 4
59 4| wrsERE T H 21 5
59 5 o ERA T H 21 6
59 6 | s TH 21 7
59 7 ol ERA T H 21 8
59 8 ol ERA T H 21 9
59 9 ol ERA T H 21 10
59 10 | w1 21 11
59 11 || wrmman =T 21 12
59 12 | wrmm =T A 21 13
59 13 | wrmma—T 21 14
59 14 || wmma—T A 21 15
59 15 || w1 21 16
59 16 || w1 21 17
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59 17 | wrmma =T 21 18
59 18 | wtrmma—T A 21 19
59 19 | wrmma =T 21 20
59 20 | #rER— T H 21 21
59 21 | #hrsRai— T H 21 99
59 22 || w1 H 21 93
59 23 || #hrERa T H 21 1
60 1 o ERA T H 20 9
60 9 o ERA T H 20 3
60 3 o ERA T H 20 4
60 4| s T H 20 5
60 5 ol ERA T H 20 6
60 6 | s TH 20 7
60 7 ol BRA T H 20 8
60 8 o ERA T H 20 9
60 9 ol ERA T H 20 10
60 10 | w1 20 11
60 11 || wrmman—1 20 12
60 12 | wrmm =T 20 13
60 13 | wrmma—T 20 14
60 14 || wmma—T A 20 15
60 15 || w1 20 16
60 16 || w1 20 17
60 17 | wrmma =T 20 18
60 18 | =T H 20 19
60 19 | wmma—T 20 20
60 20 | #rER— T H 20 21
60 21 | #hrsRai— T H 20 1
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61 1-1 | #tormmean—1 19 9
61 1-2 | #termman—1 19 1
61 | 2-1 | #rmman—1H 19 3
61 | 2-2 | wrmman—TH 19 4
61 | 2-3 | #rwmei—TH 19 5
61 | 2-4 | s TH 19 6
61 | 2-5 | #rmei—TH 19 7
61 | 2-6 | #rwmei—TH 19 8
61 | 2-7 | wrwmei—TH 19 16
61 | 2-8 | #rmei—TH 19 17
61 | 2-9 | #rmei—TH 19 18
61 | 2-10 | #hrmai—TH 19 19
61 | 2-11 | #rmman—1H 19 20
61 | 2-12 | #ormman—1H 19 21
61 | 3-1 | #rwman—TH 19 9
61 | 3-2 | wrmman—TH 19 10
61 | 3-3 | #rmei—TH 19 11
61 | 3-4 | s TH 19 13
61 | 3-5 | #rmei—TH 19 14
61 | 3-6 | #rmei—TH 19 15
61 5 ol ERA T H 19 12
62 | 1-1 | #brwman—TH 17 3
62 | 1-2 | #rwman—TH 17 9
62 | 1-3 | #rmeiTH 17 1
62 9 ol ERA T H 17 4
62 3 ol ERA T H 17 5
62 | 4-1 | brwman T H 17 14
62 | 4-2 | s TH 17 6
62 5 ol BRA T H 17 7
62 6 | s TH 17 8
62 7 ol ERA T H 17 9
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62 | s-1 | a1 H 17 10
62 | 8-2 | mrmman—TH 17 11
62 | 83 | mrmmiTH 17 12
62 | 84 | mrwmaG T H 17 13
63 1 ol ERA T H 97 1
63 9 ol ERA T H 27 9
63 | 3-1 | s TH 27 3
63 | 3-2 | wmman—TH 27 12
63 4| s TH 27 4
63 | 5-1 | a1 H 27 5
63 | 5-2 | mrwma—TH 27 11
63 6 | s TH 97 6
63 7 ol ERA T H 97 7
63 | 8-1 | #rwman—TH 97 8
63 | 83 | #rmAiTH 97 9
63 | 8—2-1 | #hormRan =T H 97 10
63 | 8—2-2 || a1 H 97 17
64 | 1-1 | s TH 2% 1
64 | 1-2 || s TH 2% 9
64 | 2-1 | #rwman—TH 2% 3
64 | 2-2 | wrmmanoTH 2% 11
64 3 ol ERA T H 2% 4
64 4| wrsERE T H 2% 5
64 5 o ERA T H 2% 6
64 6 | s TH 2% 7
64 7 ol ERA T H 2% 8
64 8 ol ERA T H 2% 9
64 9 ol ERA T H 2% 10
65 1 ol BRA T H 25 9
65 9 ol ERA T H 25 3
656 | 3-1 | w1 H 25 15
656 | 3-2 | mwman—TH 25 14
65 | 3-3 | #rEETH 25 4
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65 4| s T H 25 5
65 | 5-1 | w1 H 25 16
656 | 5-2 | mEERG—TH 25 17
65 | 5-3 | #rEREGTH 25 6
65 6 | s TH 25 7
65 | 7-1 | a1 H 25 8
656 | 7-2 | wrmman—TH 25 9
66 1 o ERA T H 24 1
66 9 o ERA T H 24 3
66 3 o ERA T H 24 4
66 | 4-1 | wmman—TH 24 5
66 | 4-2 | T H 24 16
66 | 4-3 | wrEE T H 24 15
66 | 5-1 | a1 H 24 6
66 | 5-2 | mERaG—TH 24 14
66 | 6-1 | hrmRaG—TH 24 13
66 | 6-2 | mERaG T H 24 7
66 7 ol ERA T H 24 8
66 8 ol ERA T H 24 9
66 | 9-1 | rmmai—TH 24 10
66 | 9-2 | mrmmRaG T H 24 11
66 | 9-3 | #rEETH 24 12
66 10 | w1 24 9
67 1 o ERA T H 23 1
67 9 ol ERA T H 23 9
67 3 ol ERA T H 23 3
67 4| wrsERE T H 23 4
67 5 ol ERA T H 23 5
67 6 | wrsRm— T H 23 6
67 7 ol ERA T H 23 7
o . ol ERA T H 23 8
ol ERA T H 23 97
o ; ol ERA T H 23 9
ol ERA T H 23 28
67 10 || w1 23 10
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67 | 11-1 | #rmman—TH 23 11
67 | 11-2 | s =T H 23 17
67 | 12-1 | a1 H 23 12
67 | 12-2 | w1 H 23 16
67 | 13-1 | s —TH 23 15
67 | 13-2 | s T H 23 14
67 | 13-3 | #rmei T H 23 13
68 | 1-1 | brwman—TH 30 1
68 | 1-2 | rmman T H 30 15
68 | 2-1 | hrwman—TH 30 13
68 | 2-2 | T H 30 9
68 | 2-3 | #rERei T H 30 14
68 3 ol ERA T H 30 3
68 | 4-1 | b1 H 30 5
68 | 4-2 | a1 H 30 6
68 | 4-3 | mrERei T H 30 7
68 | 4-4 | mbmERaG—TH 30 4
69 1 ol ERA T H 28 10
69 9 ol ERA T H 28 11
69 | 3-1 | s TH 28 9
69 | 3-2 | mrmman—TH 28 12
69 | 4-1 | s TH 28 8
69 | 4-2 | wmman—TH 28 13
69 | 4-3 | #rEei T H 28 14
69 | 5-1 | rwmRaG—TH 28 7
69 | 5-2 | mwEG—TH 28
69 6 | s TH 28 5
69 | 7-1 | s TH 28 18
69 | 7-2 | wrmmanoTH 28 17
69 | 7-3 | wrmmiTH 28 16
69 | 7-4 | wmmaG—TH 28 19
69 | 7-5 | wrmeiTH 28 15
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69 | 8-1 | rwman—TH 28 97
69 | 8-2 | mrmmai T H 28 20
69 | 83 | #rEATH 28 4
69 | 9-1 | a1 H 28 3
69 | 9-2-1 | hrwman =T H 28

69 | 9-2-2 || a1 H 28

69 10 || w1 28 21
69 11 || wrmman =1 28 99
70 | 1-1 | s 29 10
70 | 1-2 | w1 29 25
70 9 o ERA T H 29 11
70 3 ol ERA T H 29 9
70 | 4-1 | w1 H 29 12
70 | 42 | w1 29 13
70 | 5-1 | w1 H 29

70 | 52 | w1 29

70 | 53 | wwmeiTH 29

70 | 6-1 | w1 H 29 14
70 | 6-2 | w1 H 29 15
70 | 6-3 | wrwmeiTH 29 16
70 | 6-4 | a1 H 29 5
70 7 ol ERA T H 29 4
70 8 ol ERA T H 29 3
70 9 o ERA T H 29 17
70 10 | w1 29 9
70 | 11-1 | w1 A 29 1
70 | 11-2 | s 1A 29 97
70 | 11-3 | wrwmmei T H 29 26
71 1 ol BRA T H 37 4
71 9 ol ERA T H 37 3
71 4| wersERE T H 37

71 5 ol ERA T H 37

71 6 | s T H 37 17
71 7 ol ERA T H 37 18
71 8 ol ERA T H 37 16
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71 9 ol ERA T H 37 15
71 10 | w1 37 14
71 11 || wrmman—1 37
71 12 | wrmm =T 37
71 13 | wrmma—T 37
71 14 || wmma—T A 37 5
71 15 || w1 37 19
71 16 || w1 37 20
71 17 | wrmma =T 37 21
79 1 o ERA T H 36 4
79 7 o ERA T H 36 5
79 9 ol ERA T H 36 6
79 11 || wrmman—1 36 7
79 14 || wmma—T A 36 1
79 15 || w1 36 9
79 17 | wrmma =T 36 3
73 1 ol ERA T H 42 14
73 9 ol ERA T H 42 13
73 3 ol ERA T H 42 12
73 4| wrsERE T H 42 11
73 5 ol ERA T H 42 10
73 6 | s T H 42 9
73 7 ol ERA T H 42 4
73 8 o ERA T H 42 3
73 9 ol ERA T H 42 9
73 10 | w1 42 1
73 11 || wrmman =T 42 7
73 12 | wrmm =T A 42 6
73 13 | wrmma—T 42 16
73 14 || wmma—T A 42 15
73 15 || w1 42 5
73 Bl | #rmsan—1 42 17
73 B2 | w1 A 42 18
74 1 ol ERA T H 41 3
74 9 ol ERA T H 41
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74 3 ol ERA T H 41 5
74 4| wersERE T H 41 6
74 5 ol ERA T H 41 7
74 6 | s TH 41 8
74 7 ol ERA T H 41 9
74 8 ol ERA T H 41 10
74 9 ol ERA T H 41 11
74 10 | w1 41 12
74 11 || wrmman =1 41 13
74 12 | wrmm—T 41 14
74 13 | wrmma—T 41 15
74 14 || wmma—T A 41 16
74 15 || w1 41 17
74 16 | w1 41 9
74 17 | wrmma =T 41 1
75 1 ol ERA T H 40 9
75 9 ol ERA T H 40 3
75 3 ol ERA T H 40 4
75 4| wersERE T H 40 5
75 5 ol ERA T H 40 6
75 6 | s TH 40 7
75 7 ol ERA T H 40 8
75 8 ol ERA T H 40 9
75 9 o ERA T H 40 10
75 10 | w1 40 11
75 11 || wrmman =T 40 12
75 12 | wrmm =T A 40 13
75 13 | wmma—T 40 14
75 14 || wmma—T A 40 15
75 15 || w1 40 16
75 16 | w1 40 1
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76 1 ol ERA T H 39 9
76 9 ol ERA T H 39 3
76 3 ol ERA T H 39 4
76 4| wersERE T H 39 5
76 5 ol ERA T H 39 6
76 6 | s T H 39 7
76 7 ol ERA T H 39 8
76 8 o ERA T H 39 9
76 9 o ERA T H 39 10
76 10 | w1 39 11
76 11 || wrmman—1 39 12
76 12 | wrmma =T 39 13
76 13 | wrmma—T 39 14
76 14 || wmma—T A 39 15
76 15 || w1 39 16
76 16 | w1 39 17
76 17 | wrmma =T 39 1
77 1 ol ERA T H 38 1
77 9 ol ERA T H 38 9
77 3 ol ERA T H 38 3
77 4| s T H 38 4
77 5 ol ERA T H 38 5
77 6 | s TH 38 6
77 7 o ERA T H 38 7
77 8 ol ERA T H 38 8
78 1 ol ERA T H AT 1
78 9 ol ERA T H AT 9
78 3 ol ERA T H AT 3
78 4| wrsERE T H AT 4
78 5 ol ERA T H AT 5
78 6 | s TH AT 6
78 7 ol ERA T H AT 7
78 8 ol ERA T H AT 8
78 9 ol ERA T H AT 9
78 10 || w1 AT 10
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78 11 || wrmman—1 A7 11
78 12 | wrmm =T A AT 12
79 1 ol ERA T H 46 9
79 9 ol ERA T H 46 3
79 3 ol ERA T H 46 4
79 4| s TH 46 5
79 5 ol ERA T H 46 6
79 6 | s TH 46 7
79 7 o ERA T H 46 8
79 8 o ERA T H 46 9
79 9 o ERA T H 46 10
79 10 | w1 46 11
79 11 || wrmman—1 46 12
79 12 | wrmm =T A 46 13
79 13 | wmma—T 46 14
79 14 || wmma—T A 46 15
79 15 || w1 46 16
79 16 || w1 46 17
79 17 | wrmma =T 46 18
79 18 || w1 46 1
80 1 ol ERA T H 45 9
80 9 ol ERA T H 45 3
80 3 ol ERA T H 45 4
80 4| wersERE T H 45 5
80 5 ol ERA T H 45 6
80 6 | s TH 45 7
80 7 ol ERA T H 45 8
80 8 ol ERA T H 45 9
80 9 ol BRA T H 45 10
80 10 | w1 45 11
80 11 || wrmman =T 45 12
80 12| wrmma T A 45 13
80 13 | wrmma—T 45 14
80 14 || wmma—T A 45 15
80 15 || w1 45 16
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80 16 | w1 45 17
80 17 | wrmma =T 45 18
80 18 | w1 45 1
81 1 ol ERA T H 44 9
81 9 ol ERA T H 44 3
81 3 ol ERA T H 44 4
81 4| s TH 44 5
81 5 o ERA T H 44 6
81 6 | MR T H 44 7
81 7 o ERA T H 44 8
81 8 o ERA T H 44 9
81 9 ol ERA T H 44 12
81 10 | w1 44 13
81 11 || wrmman =T 44 14
81 12 | wrmma T 44 15
81 13 | wmma—T 44 16
81 14 || wmma—T A 44 17
81 15 || w1 44 18
81 16 || w1 44 1
81 17 | wrmma =T 44 10
81 18 | w1 A 44 11
82 1 ol ERA T H 43 15
82 9 ol ERA T H 43 14
82 3 o ERA T H 43 13
82 4| wrsERE T H 43 17
82 5 ol ERA T H 43 18
82 6 | s TH 43 12
82 7 ol ERA T H 43 11
82 8 ol BRA T H 43 19
82 9 ol ERA T H 43 20
82 10 | w1 43 10
82 11 || wrmmai—1 43 21
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82 12 | wrmma =T 43 9
82 13 | wmma—T 43 34
82 14 || wmma—T A 43 8
82 15 || w1 43 35
82 16 || w1 43

82 17 | wrmma =T 43

82 18 || =T A 43 36
82 19 | w1 43 6
82 20 | #rER— T H 43 37
82 21 | #hrRai— T H 43 16
82 DI || a7 A 43 38
82 D2 | Ry T A 43 39
83 1 ol ERA T H 48

83 9 ol BRA T H 48

83 3 o ERA T H 48

83 4| wersERE T H 48 10
83 5 ol ERA T H 48 17
83 6 | s T H 48 18
83 7 ol ERA T H 48 1
83 8 ol ERA T H 48 9
83 9 ol ERA T H 48 3
83 10 || w1 48 4
83 11 || wrmman—1 43 4
83 12 | wrmma =T 43 99
83 13| wrmma—T 43 23
83 14 || wmma—T A 43 1
83 15 || w1 43 9
83 16 | w1 43 3
83 17 | wrmma =T 48 5
83 18 | wtrmma—T A 48 6
83 Bl | #rmsan—1 48 21
83 B2 | w1 A 48 99
83 B3 | wtrmsan—1 48 23
83 E6 | wrmsai—1 48 20
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83 B7 | w1 48 19
84 | 1-1 | a1 H 1
84 | 1-2 || wrwman—TH 2
84 | 1-3 | #rmei—TH 3
85 1 ol ERA T H 18 7
85 9 ol ERA T H 18 8
85 3 ol ERA T H 18 9
85 4| s TH 18 9
85 5 o ERA T H 18 1
85 6 | MR TH 18 3
85 7 o ERA T H 18 4
85 8 ol ERA T H 18 5
85 9 ol ERA T H 18 6
86 1 W R — T B 37 7
87 1 W R — T B 37 6




